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® 4x®+4x+4, 4

O3 2% + % +x+ 18 20 - 1 2 YE 5T UHAE 42
Q(x), RolZtaL oFH 2x3 + x> + x+1 = (2x-1)Q(x) + R
:(x—%>~2Q(x)+R

SIh=R=]
1
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2
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2 2 212
20(x) = 2x% + 2x + 2

L O0(x)=x*4+x+1, R=2
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T oA 2 4 ax-2,0 4+ 34+ 59 ARFHSTF x-19 ), F A5
a.b9 B a+bol gL

@3 @-1 80 @ 1 ® 3

S8 ~
HfZFp7t x - 10]B2 Z47Ee] Alof x = 1-& W YSHH 09]
Hrt,

1+a-2=0,14+3+b=0°1"a=1b=-4
~a+b=-3
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Q-1 @0 @ 1 ® 2

O -2

x)3-13 = (2x— 1) (4x% + 2x + 1)
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@® %(k+1)(k+3)(k+4) ) %k(k+1)(k+2)
© %(k+1)(k+2)(k+3) @ %k(k+1)(k+2)(k+3)
® }l(k+1)(2k+1)(3k+2)
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@ a-b+c @ c—a ® b+c

a® — b2c — ab? + a?c = a® — ab?® + a?c - b%¢
=a(a® - b*) + (a®> - b*)c
=(a-b)(a+b)(a+c)




x% = 2x—y? 4+ 2y E AFEalot A B Y, (x+ay)(x—by+c) 7t = AT
ol w, a, b, cE TAHE & A2?

® -1,0, 1 @ -1, 1, 2 ® -2, -1,1

@—1, -1, -2 ©-1,2
B )

-2x-y +2y = (x+y)(x-y) - 2(x-y)
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11. (x4 - 8x? - 9) + (x2 - 9)% Alikstof e},

@x2+1 @ x*-1 ® x?+2
@ x2-2 ® x*+3

xt—8x2-9= (x2—9) (x2—|—1)
L (EA)=x2+1




12, oA (x-1)° 4 272 HE=2A] dRafet A7

® (x-1)( +3) @ (r-1)(-x-2)
® (x-1)(x?+3x+3) @ (x+2)(2+x+7)
@(x—i— 2)(x% = 5x + 13)

+3)(A2-3A+9)
(x+2)(x% = 5x + 13)




13. % R4l 2 4+ 1, 2 4 2% - 5 - 6 9] AFASE T5HA?

D x @x—l—l @ x+2 @ x-1 ® x-2

Brl=x+1)2-x+1)
2 +2x%-5x-6=(x—-2)(x +1)(x+3)
oA Fdgob e x+ 1
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—x=1,x2=x=2, -+, x¥2=x-100 Zof|A A57}
el QRO BOZ QARelEL e BE E A9l

@ 571 @ 70 (@)9711 @1/ © 1A

@ —xon= (et a)x—b) (@ b AA%) e o}
b=a+1,ab=n(1<n<100)

a 12345 6 7 89

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90
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16. AZOE A A5 x, y, zo ot 8 +y% + 23 = 3xyz & ST o,
x+y+z9 @27

@o @ 1 ® 2 @ 3 ® 4

2+ 33+ 23 - 3xyz
=(x+y+2)(*FP+y*+22-xy-yz—zx) =0
(x+y+2)=0F=2+y*+22-xy-yz-2zx=0

1
Lty +z=0FE S{(x-))’+ (-2’ + -2 =0
Jd8Y x, y, z 7V AR GE A AF(x#y£2) O|BEZ
x+y+z=0
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2010 x 2011 + 1

@® 2007

@ 20010

B

of g Fahe?

(3))2009

al@a+1)+1
_(a-1)(@®+a+1)

a=2010 & §Oom,
(F ) =21
= 2009

a?+a+1




18, x'-6x?+ 1= 23l SEAEY (x° +ax+b)(x? +cx+d) 7h = .
ol W, g+ b+c+do FE FoHH?

@_2 @ 2 ® -1 @ 1 ® 4

B ‘

=622 +1 = (xf - 20 +1) - 4x?
= (x? = 1)% - (2x)?

= (@2 +2x-1)(x* -2x - 1)
:(x2+ax+b)(x2+cx+d)
Latbtctd=-2




19. 2x2 +xy—y? +10x+ 4y + 125 x, yo] F AxA o Fo&2 ¢
A, (x+ay+b)(2x+cy +d) 7 Bt & wf, a +
2?7 (H,a, b, ¢, d = 745F)

@ 6 @ 7 ®)s @ 9 ® 10

B )
2x% + xy—y* + 10x + 4y + 12 (« xofl Fote] A2

=2x2+ (y+10)x - (2 — 4y - 12)

=222+ (y+10)x— (y + 2)(y - 6)

={x+ (y+2)H2x - (y-6)}

— (x+y+2)(2x-y+6)

a=1,b=2,¢c=-1,d=6

“a+b+c+d=8
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x,y, 27 AFZE O] Al ] 2] dolo|al, xz2 —yz? +yx® +zx2 —zyt—xy® =0
S WET o, o] 4P ofH HAFA?

O AFAEAA AAYAY @ o7 A H27HY
@x — yol o] 51tz @ y=z3 ol 5HAZS

22 -y +y? + - g® —xy* =0
(x=-92+ (@ -y)z+ (x-y)xy=0
(x=Z+ (x+y)z+xy}=0

(F-ME+x)E+y) =05 x=y (-5 y, 25 BF F5)




